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Random Experiment 
• A random experiment is one whose 

outcome cannot be predicted exactly in 

advance 

Example: Throwing a dice 

                 Tossing the coin 
  

Equally Likely outcome 

Outcomes of an experiment are equally 

likely if each has the same chance of 
occurring 

Example 

In tossing the coin, both head and tail can 

come equally likely 

In throwing the dice, all the number 1, 
2,3,4,5,6 can come equally likely 

 



 
One or more outcomes of an experiment make 

an event. 

 1.Getting a tail in tossing a coin is 

an event 

 

 

 

 

 

2. Getting a green sector in spinning 

a wheel 

3.Getting an odd number in a throw 

of dice is also an event.  

 

 

 

 

 

4. Getting a red ball from a bottle of 

balls. 

 

 

 

 

 



 



 

 

 

 
Probability is calculated as 

 

 

 

  

This is applicable when the all outcomes are equally likely 

 



 



Example 

    When a die is thrown, Find the 

probability of the following 

 (a) getting prime number 

(b) getting not a prime 

number. 

(c) getting a number greater 

than 4 

(d) getting a number not 

greater than 4. 

 

• Solution 

Total outcome from the dice are 

1,2,3,4,5, 6.  So 6 

a)  getting prime number 

2,3,5 are the prime number 

So probability = 3/6= 1/2 

b) getting not a prime number 

1,4,6 are not prime number 

So Probability = 3/6= 1/2 

c) getting a number greater than   

4 : 5,6 satisfies the requirement 

So probability = 2/6= 1/3 

d) getting a number less than 4 

1,2 ,3 satisfies the requirement 

So probability = 3/6= 1/2 

  

 



Example 
• Find the  Probability of 

getting an ace from a well 

shuffled deck of 52 playing 

cards. 

 

ANS :There are 4 aces in a 

deck of 52 playing cards.  

    So, probability of getting an 

ace = 4/52 

          = 1/13 

 

 

 




